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Chapter 5 - Control Volume Analysis

Conservation of Mass

d

E J P dv + EPOUtAoutvout - EpinAinVin =

Conservation of Momentum

% f VPdV + EvoutpoutAoutvout - E VP inAinVin - E Econenscv
cv

Moment of Momentum
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Energy Equation
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Chapter 6

Volumetric Rate of Dilatation
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Strain rate
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Incompressible Continuity Equation x-y plane
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Incompressible Continuity Equation r-z plane
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Incompressible Continuity Equation r-theta plane
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Navier Stokes x-y plane
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Navier Stokes Cylindrical r-z plane
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Navier Stokes Cylindrical r-theta plane
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